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22— R A Fih | PR (kg) B (F) =il g HE o (BLAT)
Y3002 |=# (A4 9 9,374 1,944 324 324] B Okg
31200 |([LEE 17 5, 692 97 76 38| B 86
Y3014 | KARE 11 3,197| 65 65 54| BN 53H
31800 HEShAE 11 7,733 151 140 140| &K 543K
31900 |#a& 1 756 756 756 756 | BN kg
31420 |B3 5 1,123 76 76 65| B P 163
34100 (A 5 1, 269 51 51 5l BN 267
34500 E—-wl 6 1, 790 410 270 270| B 6kg
Y3033 |Zefar : 166 14, 688 162 85 55| BPY 166kg
Y3044 |EAFE ) 12| 510 43 43 431 BN 12kg
37200 {L & 98 . 10 2, 160 216 216 216| B 10kg
34930 [ L1 T/ 3 950 108 108 76| B Y 104
34800 |38< 5 8 6, 858 86 86 811BH 80 v h
36340 | Lz EE 33 8, 599 28] 216 65| 15N 33kg
Z1030 | F 7%+ 1,210 28 28 1L B 504
71032 | R &7 (#F) ' 594 12 12 11| BA 507
71040 |3\ ' 1,155 77 71 T EBA 1674%
71305 (M v b b 10, 494 220 176 143 BA 608k
30100 |72z A L 50 13, 500 2, 700 2, 700 2, 700| AL 5Are— R
30100 {722 A M 54 6,610 140 140 65|FRE |60
30100 |[#5v T A B 260 7,970 540 281 270 |ERE 264%
30300 | A2 80 17, 820 2, 376 2,376 1,836|dkifpE - |84 —2
30300 |\ 2L 50 15, 120 3,0241 3,024 3,024 |4kl - |5 — 2R
30300 | A2 L 30 9,072 3,024 3, 024 3, 024 kil 34—
30400 1 ZE S L. 10 3,672 3, 872 3, 672 3,672\ F% 14 —A
31100 |13 225 12, 960 1, 404 864 864 7 By 1 —2
31100 M3 L 60 10,800 2,700] 2,700| 2, 700|MEIRE 4y —=
33810 |FH#EEE L 4 1,512 76 76 6 FER 204%
3700 %Ly ' 410 63, 180 1, 944 1,944 1, 080 | = I 41— A
31700 2% : B 10 864 864 864 864 | IR B 145
31730 |7 Y — v — M 50 3, 780 756 756 756 | F8F br— A
Y3055 |1rw K ~2w ‘ 10 2,892  2,592] 2,592 2,592 EIR B 14 —2
31800 HESHAE 8 8, 208 4,104 4,104 4, 104| B . 24—
31800 HE SN AHE 4 2, 592 130 130 130| B 12 2 204%
31950 HiaZ 2L 15 11,340 2,268 2,268 2, 268 | BRVE B 54—
31950 |HA¥ L 15 11, 340 2, 268 2, 268 2,268kl - |5 —R
31950 B 8 2 5, 616 1,404 1, 404 1,404 | IR B 44—
34300 |7 20 5, 940 1,728 1, 404 1, 404 | BEA 44— R
34300 thad ‘ L 15 7,128 2,376] 2,376 2, 376|BER 37 —2A
34400 [ h= b M 24 13, 824 2, 376 2, 376 2, 160 |fEA 64—
34100 |HAIL 40 16,632 2, 160 2, 160 1, 728 |8 B — A

1/2




CEE | T EE | R |

A= e E ] R (ke) EH () i i S E (%Eﬁ)
34100 |&E 2L 25 11,232 2,376 2, 160 2, 160 Rl 5A— R
34500 ¢z L 15 14,580| 4, 860 4, 860 4, 860} B8 I B 3 — A
36200 | RésE : 2L 140 30, BT2 2,916 1, 836 1, 836 | L8 1450 — 2
36210 [ A—F A (Z) L 50 8,532 1, 836 1,620 1, 620|F % BAr— A
36600 |[feF & Lk 180 35, 964 4,320 3, 996 3, 564 | drEiE 94— 2R
33300 |F o v ) — 6 3, 458 173 173 173 AR 2048
38100 | L\ A M 8 14, 688 184 184 184] =1 802y 27
38100 |4 L\ 7-tF c |s 5 4,644 972 972 864 | =i 54— R
31310 |93 4 1,512 76 76 76 |1E W) 20%%
31500 |/ 4 1, 566 86 76 7618 E 204
31500 b3 4 1,512 76 7% 6 ERE 2048
36700 i AT 3 1,944 648 648 648 | E 3kg
37660 (BT 1 3,510 432 216 216\ R4 133y
38621 |[BARLBHLE 15 18, 200 3, 240 3, 240 3, 240 &) 54— A
40100 |ZhsA _ 200 - 42,120 2,376 2, 052 1,944 IR & 204 — A
41410 LT 11 4, 752 43 43 437 Y 11048
42133 |5 AL — R 10 1, 820 1, 620 1,620 1, 620| B 1A= A
Y4016 oo 5 20 3,240 1,836 1,836 1, 404 | E8F 24— A
Y4019 == —~D —4 ) 4 4,536 756 756 756 |78 [E 6%
49200 1231 T w T 7 2, 041 324 324 48|74 U ¥ T
Y5006 | BBEH (B4 120 50, 436 4, 266 4,158 4, 158|BEIR & 124— A
Y5006 |58 (B541) 70 26, 827 283 283] . d6|HRE 100/ 3 27
e 2, 655 813, 808| I '
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